FR=1

No.
AR ONE

AR 4 ERTTERRRER O TESER

T F 0o 4 B |SFAFEE WNESHRI2EHR  SEmHE T

T F &% B |[BEE BET RFHE)IHN

T F fE B |AhE

T & Mk |7,770,000F (VP X)

R ¥ F A |HCELRBD

RKEHOER |BRITRFHE2207FHH

2% F A B |[SF3HFE3A30H

WM & % (8,360,000 (HEBLAA)

L 1 THA3EIH30H ~ SHBHEIA30H

WM THF  1=225m
T % M = KJE T (FABREAsLS t=5cm)  A=1350nf
EmHEE LT A=105m
A o T R W
B A ¥ F A B/ o1 = i %

(BR) JE Bk TR IS 7, 680, 000
(BR) N H THIE 7,670, 000
() I A % 7,670, 000
(B) #2111 3% 7, 700, 000
(B ) 115 7,630, 000
(BR) BSH R — b 7,720, 000
() AL 7,700, 000
B R () 7500, 000 il
() A T3 v, 890,000




